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QUESTION 1

Which of the following services can be used to locate a lost or stolen device?
A. Geo-clustering

B. Geo-location

C. Geo-fencing

D. Geo-caching

Correct Answer: B

QUESTION 2

A company replicates their MDM system to a geographically separate backup site. Which of the following is the BEST
option to restore normal operations as soon as possible, in the event the main site goes down?

A. Cold site

B. Hot site

C. Intermediate site
D. Warm site

Correct Answer: B

QUESTION 3

An administrator has installed a network based security appliance. The security appliance was placed between the
email server and the company\\'s Internet gateway. Employees are now reporting issues with email synchronization.
Which of the following is the MOST likely reason for the issue?

A. The SSL certificate on all employees\\' mobile devices has expired.

B. The employees are reporting what is known to be a false positive.

C. Arequired port is being blocked by the newly installed network device.

D. The email server must be reconfigured to account for the security appliance.

Correct Answer: C

QUESTION 4

Ann, a user, can no longer receive corporate email on her mobile device, but she has Internet access and can receive
her web-based personal email. Which of the following is the MOST likely cause?
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A. The device is having latency issues.
B. The mail client needs to be reinstalled.
C. The device is roaming.

D. The email server is down.

Correct Answer: D

QUESTION 5

Ann, a user, reports that her calendar is always an hour different than actual time. Which of the following would cause
this issue?

A. Calendar sync

B. Time zone

C. Connection to mail server
D. Battery level

Correct Answer: B
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